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th) 1 i’;:’:s{?xt:)t; f:or-regt or the most suitable answer from the given four alternatives.
B Ea b:c; tsm)(l‘ XeR}:and B = {(xy) : y = cosx, xeR} then A~B contains . 1
(d») 2.. Thereistion R germmed @ infinitely many elements (c) only oe element (d) no element
n R defined on a setA = {0,-1,1.2) by xRy if [x*+ y3| < 2, then which one of the following is true?

@ . R'={(0,0), (0.-1). (0.1). (-1.0) (1 =
c (c) Domain of R is {0,1,1,)2'}( s @ ga;égog)h(?é-zg.-goal}). e
C)3. I f(x) = k2| + [x+2|, xeR. then o

IMax. Marks : 100

-2x if xe(-x,-2) -2x if xe(-x,-2) 2x if x
a4 i Nt i xe(x.- ; e(-=,-2) 2% if Xe(-x -2 .
@100 = 1 4x ifxe(22) (o) ) ={2x i1xe(22) [EI00={4 ifxe(22) (0) f0)=14" f oipns)
2x if xe(2 : (x) (-2.2)
Xe(2,x) 2x if xe(2,x) 2x if xe(2,x i
{C) 4. LetAandB be subsets f the uni g 2L yel2.x)
B b of the u(rs)ve;al set N, the set of natural numbers. Then A'U[(A~B)UB is v
(© N d) A
Le) s, '(f ;((A g B)(A x C)) = 8 and n(BAC) = 2, then n(A) is &
a) 1
(o) B s ) 4 (d) 6
G_b) 6. l(f l)’t(A%: 2 and n(BuC) = 3, then n[(A x B)U(A x C)lis
- [®) 6 © 5 3
7. : (@ 3 R
C ) 7 I(fa ;wo;:ets A and B have 17 elerrzz;\ts in common, then the Eber of elements common to the set AxB and BxA is ;
34 172 ' d) insufficient data
Cq) 8. For non-empty sets A and B, if AcB then (A x B)n(B x A) is equal to X Keh
@l AxA _ (b) AnB (c) BxB ' (d) none of these
le)s. ;ﬂ;e r;%r;:er of relations on a set containing 3 elements is B
a (b) 9 512 (d) 81 4
ceHo. (LG)t X={1 .2|.3.4} and R = {(1,1),(1,2),(1,3),(2,2).(3.3).(2,1),(3.1).(1,4).(4,1)}. Then R is
a) equivalence (b) transitive (c)| symmetric d) reflexive
(b )11 The range of the function 1 / 1-2sinx is “
@ (-=,-1)u(1/3,x) [®)] (-=,-1]U[1/3,%) (¢) [-1,13] (d) (1,173 »
(C) 12. The range of the function f(x) = |[x] - x|, xeR is i E
() [0.1] ' (b) [0.x) [\ 0,1 @ (0.1) {
( )13 (Tr;e number of constant functions from a set containing mDeleents to a set containing n elements is :
a) mn (b) m+n @] n @ m . :
(.b 14. If the function f : [-3,3] - S deﬁr&eib_)c:!] by f(x) = x? is onto, then S is
@ [-3.3] [0.9] (©) [-9.9] (d R
d_ x ifx<1
15. The inverse of f(x) = x2 if1<x<4is |
() | 8vx ifx>4 : | \
2x . x <1 XX < 1 X X<1 X, x<1
(@) f'(x)={Vx ;1sx<16 (b) f'(x)={Vx ; 1<x<16 (c) F'(X) ={Vx : 1<x<16 [I_Jj F1(x) ={ Vx : 1<x<16 T
x%/8 ; x > 16 X264 ; x > 16 X164 ; x > 16 x2/64 : x > 16
LCU‘G- Let f: R>R be defined b y f(x) = 1 - [x|. Then the range of f is ¢
(@ R (b) (+1.x) (€ (1) (@] [-=.1]
: ) . _ (x2+cosx)(1+x4) . . : 1
Lb)ﬁ. The function f : R—5R is defined by f(x) = e oo et is <
- (@) an odd function : [(®)] an even function
(c) neither an odd function nor an even function (d) both odd function and even function
(b ))18. If [x+2| < 9, then x belongs to ‘
(a) (-11l7) @[-11-7] (c) ('I.-T) (d) (-I'-7)QI11'1) : B l N ‘
(5\) 19. Given that, x,y and b are real numbers x <y, b > 0, then,
f@! xb <yb (b) xb < yb . (c) xb>yb (d) x/b > yib
Ce) 20. The solution set of 5x - 1 <24 and 5x + 1 > -24 is : ¥
(a) (-5, -4) (b) (-5.4) el (-5.9) - (d) (4,5) 4 !
Ld)21. The solution set of the following inequality |x-1| 2 |x-3| is o | i
(@ (0.2) (b) (-=.2) (c) [0.2] [@ [2ex) e |
d.922. The value of log ,512is .
( > @@ 12 (b) 16 () 9 @18 ‘ .
(c)23. Iflog ,0.25=4, then the value of x is ' ‘ 37
@ 15 (b) 1.25 [©)f 05 (d) 2.5 | |
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24. The value of log,b log,c log,a is
(a) 4 1
25. lf3|s~the logarithm of 343, therE%le base is © 2 e
la) 7 (b) 5 (© 9 © 6
26. Find a so that the sum and product of the roots of the equation 2x¢ + (a-3)x +3a - 5 = O is
(@ o (b) 4 (c) 1 [@) 2
27. The number of solutions of x? + +|x-11=1is
@ 3 1)l 2 ~ (c) 0 d 1
28. The equation whose roots are numerically equal but opposite in sign to the roots of 3x* - 5x - 7= 0 is
@l x+5x-7=0 (b) 3x?+x-7 © 3x-5x+7=0  (d) 3x¢-5¢-7=0
28. 1f 8 and 2 are the roots of x? + ax + ¢ = 0 and 3,3 are the roots of x? + dx + b = 0, then the roots of the
equationx?+ ax +b =0 are
(a) s.1 ®) -1,1 ) 1.2 - (d -12
30. Ifaandb d b are the real roots of the equation x? - kx + ¢ = 0, then the distance between the pOmts a,0) and (b.0) is
(8 “4c-K [®)] vk2- 4c (c) V3ki-c (d) vk-8c
31. tf(ka;‘(x_” 2—+ ):—1 then the value of k is ;
@ 2 I®) 3 ) 1 (d) 4
32. |If 3:25_’; = ::x . then the value of A+B is
() % (b) 2/3 [ % 213
33. The number of roots of (x+3)* + (x+5)* = 16 is
(@ 0 (b) 3 ) 4 (d) 2
134, The value of log,11 . log, 13 . log,,15 . log,.27 . log,.81 is ;
@l 4 (b) 3 (c) 1 (d) 2
s A B
© cos80°  sin80°
(@) +3 () v2 Te) 4 (d 2
- 36. If cos 28° + sin 28° = k3, then cos 17° is equal to
(@ -kNZ B kA2 (c) kN2 (d) k313
37. (1+cos x/8) (1+cos 3x/8) (1+cos 5x/8) (1+cos z/8) =
(@ 1NT (&) N2 N2 [l 178 (d) %
38. If x< 28 < 3z/2, then V2 + VZ ¥ Z cos 4B equals to
(@) - 2sind (b) - 2cosh %l 2sind (d) 2cosé
tan 140° -tan 130°
3G. Iftan 40° =3, then 1+ tan 140° tan 130°
@ 1-232. (b) 1+2.2/ 2L (€) 14231 (d) 1-22/2
40. cos 1°+ cos 2°+cos 3°+ ... cos 179° = :
() 89 0 (© 1 (d) -1
41. Letf(x) = 1/k [sin"x + cos'x] where xeR and k21, then f,(x) - f(x) =
(@ 113 [l 112 (c) 14 (d) 1/6
42. Which of the following is not true?
() tand = 25 (b) cosh = -1 fc]l sech = % (d) sind = - %
43 SN(AB) sin (B-C) , _sin(C-A)
"“CosA cosB = TcosB cosC ~ cosC cosA
(a 1 (b) sinA + sinB + sinC @ 0 (d) cosA + cosB + cosC
44 If cos po + cos gd = 0 and if p=q, then B is equal to (n is any integer)
(a) =(n:1)/pzq (b) =(3n+1)/p-q _ €l x(2n+1)/p2q " (d) x(n+2)/p+q
45. If tanu and tanp are the roots of x* + ax + b =0, then ggu—(r;ma&ls equal to
(a) ab '(b) bla (c) -bla 19 -an
46. If 1(8) = |sind| + |cosB|, 6€R, then f(6) is in the interval
&) (132 (b) [0.2] () 10.1] (@ [1.2)
47 G0 6x +6cos 4x + 15 cos 2x + 10 o equal to
* T cos 5x + 5cos 2x + 10 cos x
(3) cos 3x bk 2 cos x (c) cos 2x (d) cos x
48. The triangle of maximum area with constant perimeter 12m ‘
(a) is an isosceles tangle with sides 2m,5m.5m is an equilateral triangle with sidz 4™
(c) is a triangle with sides 3m,4m,5m (d) does not exist
&
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(b 49, A wheelis spinning at 2 radians/
(@) 15 x seconds Y?Es_lecond. How many seconds will it take to make 10 complet .
d) 50. If sino + cosg = ‘ (b)] 10 x seconds (€) 20 x second plete rotations?
‘ @ b2-1 'fBb_ . then sin 2a is equal to : 4 (d).5 = seconds
Wbk (b) b2-1,ifb> 1
‘ it Lt ‘ \ b2 c) b2-1,j 7 a5 0l
(&) 51 Inasasc, I (i) SinAZ2 sinB2 SinC/2 > 0 (i) sinA sing i( (): D027 @] b-1,itb<vT
@ (@) only (i) is true (b) only (i is t g sinC > 0 then
52. The sum of the digi N rue  (c) Neither (i) nor (ii) is true  Fdj Both (i i
) (@) 432 © digits at the 10 E'ace of all numbers formed with the help of 2,4.5.7EEkes all(gtagc:jr(:; ?Sre "
(@) 53. Inan examination there are thre(e)m1u?tiple o —— () 36 (] 108
i : io i ;
%}vhgla students can fail to get all answer corrzct is s &nd each question has 5 choices. Number of ways
b
dy) 54. The number of 5 digit numbers e(lll)dz:its of which are odd i(sC) Xy (2325
(@) 25 by 55
() 55 In3fingers, the number of ways four fings can be worn in(c) s':N L (d) 625
(a) 68 ,11(n , (ne3) (b) 64 (c) 43-1 @ 34
(d-) 56. If ("'S)P(mu = (_22 ) P_ . then the value of n are '
(@) 2and 11 (b) 2and 6 (c) 7and 11
6and7
' td) 57. The product of r conscufive positive integers is divisible by O
() e (b) (r+1)! © (1! @
LC) 58. There are 10 points in a plane and 4 of them are collinear. The number of straight lines joining any two points is
(a) 38 . (b) 39 ey 40 (d) 45
U,) 59. The number of ways in which a host lady invite 8 people for a party of 8 out of 12 people of whom two do not
want to attend the party together is |
(@ 2x “97 +1°C, @ 12C, - °C, (c) *C,+2! (d) "'C, +*C,
Qd,) 60. Everybody in a room shakes hands with everybody else. The total number of shake hands is 66. The number of
persons in the room is
(@ 6 (b) 10 ) 1 (@) 12 ‘
(d) 61. Number of sides of a polygon having 44 diagonals is f
(a) 4 j (b) 4 . (e) 22 i@ 1
(_b) 62. In a plane there are 10 points are there out of which 4 points are collinear, then the number of triangles formed is
(@) ™c, [} 116 (c) 110 (d) 120 |
(@) #63. In2C~: "C, = 11:1 then n is’ {14
C P ®) 5 © 7 @ 1
64. NGt NC s
(.d') * (a) \J(‘S")c (r-1) (b) (nﬂ)cr (C) nC” @‘rcl
' that a chessboard has .
@) 65. The number of rectangles S
6561 - ()} 1296
@ 9° (b) 81 , (c) .
3 i 2P, +3P,+..+nP_is
x66. If P_stands for ‘P, then the sum of the series 1+P, +2P; 3 2 _
CL) (@) r (MUP(M) @\PM@1 (c) Pn~1@1 ' (d) P,,.\
67. If"C,, °C,, "C, are in AP the value of n can be ’
(C (a) 45 5 6 (b) 9 .[@] 14 13 (d) 11
tb) es. (1«;3;15+7+...+17 is equal to e o @10
. ] ! \
69. The value of 2+4+6+. .. +2n IS k. d) 2n(2n+1)12 '
e (@) n(n+1)/2 (b) n(n-1)i2 pnH) e}
s H 03
Lb) 70. The cgefﬁzinent of x¢ in (2+2x)’ %)} B4 © *C, : () 2°
(@ "C, : P 0 s
ChY) 71. The coefficient of X%y in the expansion of (2x+3y)™ (@) 2937 /
20C 28312 (c) O '
(a) 28317+ 21238 : @ i 8 ;o : ‘
(C) 72. If*C,,> nC for all possible T, thEIzbE)l v1a9ue ofnis f_(c_)\ B . (@ 10 ‘
(&) g i i tric mean of two numbers, then 1
Qﬂ,) 73. If a is the arithmetic mean and g(;bl)s ;hi geome J (© asg d a=g |
© Ya) azg ' 4 and if a.. @,, @, are in AP, then n is : ;
Ld,) 74, If (14x2)2 (1+X)" = 8, +ax+t azx?(;).‘.‘. + X o & (é) 1 [(:6] 2. / ¢
@@ 5 . d if a,x,b are in HP then x is ‘
{Q 75. If a,8,b are in AP, a,4,b arein Gz;)a';e . @ 2 e (d) 4
@@ 1 )

< \ I % :
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(4.1) (b) (7.3) (€ (1.-1) d) (2.3)

The length_| of from the origin to the line-g- %— =1,is A

(@) -5M12 ‘ (b) 11/5 (c) 512 - @n 12/5 |

The y - intercept of the straight line passing through (1,3) and perpendicular to 2x - 3y + 1 =01is i

(@) 2/3 (6] 972 ' (c) 2/9 . () 32

If the two straight lines x + (2k -.7)y + 3 = 0 and 3kx + 9y - 5 = 0 are perpendicular then the value of k is

2)| k=3 i (b) k=2/3 (¢) k=1/3 (g) k=3{2 =1

If the lines represented by the equation 6x2 + 41xy - 7y> = 0 make angles o and p with x-axis, then tana tanp =

@ 6/7 L wy-e7 (c) 7/6 (d) -7/6 ,.
100. If one of the lines given by 6x2 - Xy + 4cy? = 0 is 3x + 4y = 0, the ¢ equals to

The sequence L. 1., —1_,
i B Bev2 o o forman

[(Térz\ :n: [ - (b) AGP () AP (d) GP

A_‘e of two positive numbers whose AM and GM are 16,8 respectively is

}?L 4 (b) 10 ) 5 d) 6

f S, denotes the sum of n terms of an AP whose common difference is d, the value of S - 2S_, + 8, is
(a) 2d (b) 4d 2 d) d

(c) d 1@
The n" term of the sequence 1,24,7,11,. . . is
nf-n+2
el —— () 2 ”*31 n#2 (c) n*-3n?+3n (d) n+3n7+2n
The sum up to n terms of th i . L 1 i 5 1
p s of the series \,1—+‘5+ ~I§+\’5+ N +.. .18
e N . N

(@) v2n+1-1 @ _gnzﬁ_1 (c) N2n+1 . (d 2'151

The nth term of the sequence 1/2, 3/4, 7/8, 15/16, . . . . is '

(@ 2"+n-1 (b) 2~ ) 2-n-1 a)f1-2"

The value of the series 1/2 + 7/4 + 13/8 + 19/16 + . . . is

(a) 4 (b) 6 e 7 (d) 14

The sum of an infinite GP is 18. If the first term is 6, the common ratio is _

(@ 173 [(b) 2/3 (c) 1/6 (d) 3/4

The coefficient of x5 in the series e is ]

(@ 32 (b) 2/3 (c) 4/15 [dy]-4/15

The equation of the locus of the point whose distance from y-axis is half the distance from origin is
(@) 3x2+y2=0 @3x2-y2=0 (c) x2+3y2=0 (d) x2-3y?=0
Which of the following point lie on the locus of 3x? + 3y? - 8x - 12y + 17 = 0 ‘

@ (2.3 (b) 0.0) ... ) (-1 M@ (1.2)

2

If the point (8,-5) lies on the locus 71)-2- -5-5 = k. then the value of k is

(a) 2 (b) 1 (c) 0 @) 3

Straight line joining the points (2,3) and (-1,4) passes through the point (a,p) if

(@ 3a+p=9 (b) a+2p=7 (€) 3a+p=11 ()] o +3p = 11
The slope of the line whih makes an angle 45° with the line 3x -y = -5 are

(@ 2, -% (b) 1,% fc} *%. -2 (d) 1, -1

Equation of the straight line that forms an isosceless triangle with coordinate axes in the I-quadrant with

perimeter 4+232 is

@ x+y-2=0 (b) x+y+2=0 (c) x+y+v2=0 (d) x+y-v2=0 _ - ‘
e intercepts of the perpendicular bisector of the line segment joining (1,2) and (3,4) with coordinate axes are
(@) 5.3 (b) 5,-4 (¢) 5.5 I@] 55

The equation of the line with slope 2 and the !_f_a_ngth of the perpendicular from the origin equal to V5 is
(@ x-2y=v5 ) 2x-y=v5 = [C) 2x-y=5 d) x-2y-5=0
A line perpendicular to the line 5x-y=0 forms a triangle with the coordinate axes. If the area of the triangle is

5 sq.units, then its equation is 1] i i
()] x + 5y+5v2 =0 (c) 5x - y +5v2 = 0 (d) 5x +y*5v2 =0

(@ x-5yt5v2=0 9 :
Equation of the straight line perpendicular to the line X-y + 5 = 0, through the point of intersection the y-axis

and the given line =
(a) x+y+5=0 (b) x+y+10=0 (c) x-y-5=0 fal x+y-5=0

The point on the line 2x - 3y = 5 is equidistance f(pm (1,2) and (34) is

{E) -3 . © 1 (@ -1

(a) 3 i
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